MATHS
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PLAYING WITH NUMBERS

1. Write the following numbers in generalised

form:

25


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8pr58vJkH4CS

° Watch Video Solution

2. Write the following numbers in generalised
form:

73

° Watch Video Solution

3. Write the following numbers in generalised

form:

129

| e |


https://dl.doubtnut.com/l/_8pr58vJkH4CS
https://dl.doubtnut.com/l/_lp7iPYqwjn13
https://dl.doubtnut.com/l/_pIIEIS3AFobE

& Wwatch Video Solution ]

4. Write the following numbers in generalised
form:

302.

° Watch Video Solution

5. Write the following in the usual form:

10 x 5 + 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_pIIEIS3AFobE
https://dl.doubtnut.com/l/_UIYLLJeiLcli
https://dl.doubtnut.com/l/_OilJIxeUjojU

6. Write the following in the usual form:

100 x 7+ 10 x 1 4 8.

o Watch Video Solution

7. Write the following in the usual form:

100 x @ + 10 x ¢ + b.

o Watch Video Solution



https://dl.doubtnut.com/l/_QAaChVSeBhhk
https://dl.doubtnut.com/l/_6XZ3gHbLBEsb

8. Check what the result would have been if

Sundaram had chosen the numbers shown

below.

27

o Watch Video Solution

9. Check what the result would have been if

Sundaram had chosen the numbers shown

below.

39

| & I


https://dl.doubtnut.com/l/_2X27IP8cmoeD
https://dl.doubtnut.com/l/_0i6UuplOO3qv

| ¥ Watch Video Solution |

10. Check what the result would have been if

Sundaram had chosen the numbers shown

below.

64

° Watch Video Solution

11. Check what the result would have been if

Sundaram had chosen the numbers shown


https://dl.doubtnut.com/l/_0i6UuplOO3qv
https://dl.doubtnut.com/l/_iLeO1PmVXPOr
https://dl.doubtnut.com/l/_DfJVE0fmYW4M

below.

17

° Watch Video Solution

12. Check what the result would have been if

Sundaram had chosen the numbers shown

below.

17

o Watch Video Solution



https://dl.doubtnut.com/l/_DfJVE0fmYW4M
https://dl.doubtnut.com/l/_bVJ64Z9lcSvn

13. Check what the result would have been if

Sundarm had chosen the numbers shown

below.

21

o Watch Video Solution

14. Check what the result would have been if

Sundarm had chosen the numbers shown

below.

96

| & I


https://dl.doubtnut.com/l/_6EHjCJa20mx2
https://dl.doubtnut.com/l/_PmoF3X2EXRr7

| ¥ Watch Video Solution |

15. Check what the result would have been if

Sundarm had chosen the numbers shown

below.

37

° Watch Video Solution

16. Check what the result would have been if

Minakshi had chosen the numbers shown


https://dl.doubtnut.com/l/_PmoF3X2EXRr7
https://dl.doubtnut.com/l/_WbH6k3Gj7HpL
https://dl.doubtnut.com/l/_zzuIglZAhwpn

below.

132

° Watch Video Solution

17. Check what the result would have been fi

Minakshi had chosen the numbers shown

below.

469

o Watch Video Solution



https://dl.doubtnut.com/l/_zzuIglZAhwpn
https://dl.doubtnut.com/l/_2VIN9IoFVWjc

18. Check what the result would have been fi

Minakshi had chosen the numbers shown

below.

737

o Watch Video Solution

19. Check what the result would have been fi

Minakshi had chosen the numbers shown

below.

901

| & I


https://dl.doubtnut.com/l/_jo9l9vc9DWRt
https://dl.doubtnut.com/l/_585eNKW3TbTH

| ¥ Watch Video Solution |

20. Check what the result would have been fi

Sundaram had chosen the numbers shown

below.

417

° Watch Video Solution

21. Check what the result would have been if

Sundaram had chosen the numbers shown


https://dl.doubtnut.com/l/_585eNKW3TbTH
https://dl.doubtnut.com/l/_FFKv2DgCrTSO
https://dl.doubtnut.com/l/_FXodkgFraTdn

below.

632

° Watch Video Solution

22. Check what the result would have been fi

Sundaram had chosen the numbers shown

below.

117

o Watch Video Solution



https://dl.doubtnut.com/l/_FXodkgFraTdn
https://dl.doubtnut.com/l/_g1cTfjSk7s8e

23. Check what the result would have been fi

Sundaram had chosen the numbers shown

below.

937

° Watch Video Solution

24. If the division N = 5 leaves a remainder of

3,what might be the ones digit of N?

o Watch Video Solution



https://dl.doubtnut.com/l/_e6RsoaJkM5zs
https://dl.doubtnut.com/l/_zbKSULiCjhib
https://dl.doubtnut.com/l/_pAlGzhlhMD0y

25. If the division N = 5 leaves a remainder of

4 what might be the ones digit of N ?

° Watch Video Solution

26. If the divisionN = 2 leaves a remainder of

T,what might be the one's digit of N ?

o Watch Video Solution



https://dl.doubtnut.com/l/_pAlGzhlhMD0y
https://dl.doubtnut.com/l/_aqcQwrsHs1ML

27. If the divisionN = 2 leaves a remainder of

1,what might be the one's digit of N ?

° Watch Video Solution

28.If the division N + 5 leaves a remainder of

T,what might be the ones digit of N?

o Watch Video Solution



https://dl.doubtnut.com/l/_wu95X39O91LQ
https://dl.doubtnut.com/l/_zsQIBMKp9Qvt

29. Check the divisibility of the following
numbrs by 9.

108

o Watch Video Solution

30. Check the divisibility of the following
numbrs by 9.

616

o Watch Video Solution



https://dl.doubtnut.com/l/_YGXoTPtT6zdB
https://dl.doubtnut.com/l/_YxzoPdWyujLO
https://dl.doubtnut.com/l/_efJvADwd2nwU

31. Check the divisibility of the following
number by 6.

294

o Watch Video Solution

32. Check the divisibility of the following
numbrs by 9.

432

o Watch Video Solution



https://dl.doubtnut.com/l/_efJvADwd2nwU
https://dl.doubtnut.com/l/_ONvhsHd90Gig
https://dl.doubtnut.com/l/_4FUJQNnBvAqk

33. Check the divisibility of the following
numbrs by 9.

927

o Watch Video Solution

34. Check the divisibility of the following
number by3.

108

o Watch Video Solution



https://dl.doubtnut.com/l/_4FUJQNnBvAqk
https://dl.doubtnut.com/l/_LY2QMI64WMlX

35. Check the divisibility of the following
numbrs by 9.

616

o Watch Video Solution

36. Check the divisibility of the following
number by3.

294

o Watch Video Solution



https://dl.doubtnut.com/l/_uvaQz1j560Ij
https://dl.doubtnut.com/l/_QJvjCw7W51bn
https://dl.doubtnut.com/l/_eIAFMCllUIF6

37. Check the divisibility of the following
number by3.

432

o Watch Video Solution

38. Check the divisibility of the following
number by3.

927

o Watch Video Solution



https://dl.doubtnut.com/l/_eIAFMCllUIF6
https://dl.doubtnut.com/l/_FF5iB0fTc2hl

1. Write a 2-digit number ab and the number
obtained by reversing its digits i.e, ba. Find
their sum. Let the sum be a 3-digit number
dad i.e, ab + ba = dad

(10a + b) + (10b + a) = dad

11(a + b) = dad

The sum a+b can not exceed 18(Why?)

Is dad a multiple of 117

Is dad less than 1987

Write all the 3-digit numbers which are


https://dl.doubtnut.com/l/_rPSZm7Tc9Fx3

multiples of 11 upto 198. Find the value of a

and d.

° Watch Video Solution

Think Dicuss And Write

1. You have seen that a number 450 is divisible

by 10 .It is also divisible by 2 and 5 which are
factors of 10.Similarly,a number 135 is divisible
by 9.It is also divisible by 3 which is a factor of

0.


https://dl.doubtnut.com/l/_rPSZm7Tc9Fx3
https://dl.doubtnut.com/l/_QhqbHbDB227X

Can you say that if a number is divisible by any
number m,then it will also be divisible by each

of the factors of m?

° Watch Video Solution

2. Write a 3-digit bnumber abc as 100a+10b+c
=99a+11b+(a-b+c)=11(9a+b)+(a-b+c)

If the number abc is divisible by 11,then what
can yu say about (a-b+c)?

Is it necessary tht (a+c-b) should be divisible

by 117

| e |


https://dl.doubtnut.com/l/_QhqbHbDB227X
https://dl.doubtnut.com/l/_1a2TwJ4MXuda

& watch Video Solution I

3. Write a 4-digit number abcd as
1000a+100b+10c+d=(1001a+99b+c)-(a-b+c-d)If
the number abcd is divisible by 11,then what

can you say about [(b+d)-(a+c)]?.

° Watch Video Solution

4. From(i) and (ii) above,can you say that a
number will be divisible by 11 if thedifference

between the sum of digits at its odd places


https://dl.doubtnut.com/l/_1a2TwJ4MXuda
https://dl.doubtnut.com/l/_qTGjHNrl4V0A
https://dl.doubtnut.com/l/_cCMb5dydPIAo

and that of digits a the even places is divisible

by 112.

° Watch Video Solution

1. Find the values of the lettters in each of the

following and give reasons for the steps


https://dl.doubtnut.com/l/_cCMb5dydPIAo
https://dl.doubtnut.com/l/_c1wzhK3rFvML

involved.

o Watch Video Solution

2. Find the values of the letters in each of the

following and give reasons for the steps


https://dl.doubtnut.com/l/_c1wzhK3rFvML
https://dl.doubtnut.com/l/_Vy5dNfa2bXXJ

involved.

4A
+98
CB2

° Watch Video Solution

3. Find the values of the lettters in each of the

following and give reasons for the steps


https://dl.doubtnut.com/l/_Vy5dNfa2bXXJ
https://dl.doubtnut.com/l/_jIUFRc1rwUmw

involved.

° Watch Video Solution



https://dl.doubtnut.com/l/_jIUFRc1rwUmw

4. Find the values of the letters in each of the
following and give reasons for the steps

involved.

Lo

° Watch Video Solution

5. Find the values of the letters in each of the
following and give reasons for the steps

involved.

| & I


https://dl.doubtnut.com/l/_U9mj9EeFZCy2
https://dl.doubtnut.com/l/_fZBDqDC6fM5T

| ¥ Watch Video Solution |

6. Find the values of the letters in each of the
following and give reasons for the steps

involved.

&2

° Watch Video Solution

7. Find the values of the letters in each of the

following and give reasons for the steps


https://dl.doubtnut.com/l/_fZBDqDC6fM5T
https://dl.doubtnut.com/l/_l79A17UyiAn4
https://dl.doubtnut.com/l/_yCJ6cGIAFxXE

involved.

&2

° Watch Video Solution

8. Find the values of the letters in each of the
following and give reasons for the steps

involved.

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_yCJ6cGIAFxXE
https://dl.doubtnut.com/l/_Hx0Wl4oZ2b0q

9. Find the values of the letters in each of the
following and give reasons for the steps

involved.

Lo

° Watch Video Solution

10. Find the values of the letters in each of the
following and give reasons for the steps

involved.

| & I


https://dl.doubtnut.com/l/_JVVzyQwcN1Za
https://dl.doubtnut.com/l/_wV5xXxkHN66Y

| ¥ Watch Video Solution |

1. If 21y5 is a multiple of 3 ,wherey is a

digit,what is the value of y.

o Watch Video Solution

2. If 31z5 is a multiple of 3,where , z is a

digit,what might be the value of z.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_wV5xXxkHN66Y
https://dl.doubtnut.com/l/_py7KXoRblLpY
https://dl.doubtnut.com/l/_bOJypW1P10Wy

3. If 24x is a multiple of 3,where:xx is a

digit,what is the value of x?

o Watch Video Solution

4. If 31z5 is a multiple of 3,where , z is a

digit,what might be the value of z.

° Watch Video Solution



https://dl.doubtnut.com/l/_bOJypW1P10Wy
https://dl.doubtnut.com/l/_UqWx6oq4R8kh
https://dl.doubtnut.com/l/_SZe6UmVrI4nv

